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. ECONOMICS

( For New Course Students )

Full Marks : 80
(Part-A = 40 + Part-B = 40)
Pass Marks : 24
(For Old Course Students in lieu of Project Works )
Full Marks : 100
(Part-A = 40 + Part-B = 40 + Part-C = 20)
Pass Marks : 30
Time : Three hours

Those who appeared till H.S. Final Exam.-2023
have beeir treated as Old Course students

The figures in the margin indicate full marks
for the questions. :

PART-A (¥ - M) -
For New Course '

Q. No. 1 carries 1 mark eaclt (AnY four) .....oevvvveeeriseeeneness 1x4 =
Q. No: 2 carries 2 marks each (any five) .....eccceieinenenens 2x5 =10

Q. No. 3 carries 3 marks eacl (Any H00) ......covvevecrcrireseeees 3x2 =
Q. No. 4 carries 6 marks eaclt (any H00) ........o.cioeicrienrinene 6x2 =12

Q. No. 5 carries 8 marks each (amy one) ..2....eeeivcuiannzs gx1 =
' Total = 40

PART-B (¢ - =IgH)
For New Course ' » '
Q. No. 6 carries 1 mark eacl (any four) ......cccoveverivennenens 1x4 =

Q. No. 7 carries 2 marks eaclt (Any five) ........ccooovvrveennene 2x5=10

Q. No. 8 carries 3 marks eacli (any two) ...........cccoevvvevnene. 3x2 =

Q. No. 9 carries 6 marks eacl (any £w00) ........ccvvvevevreveennn. 6x2 =12

Q. No. 10 carries 8 marks eaclt (any one) ......cc.covvvevvven.s. 8x1 =
Total = 40

PART-C (4 - =I%#)
For Old Course (in lien of Project Works)
Q. No. 11 carries 5 marks eacl (any four) ...........c...... 5x4 =20

Total = 20

Contd.



PART-A / %~y

. Answer any four of the following questions | »4=4
it [l el faeteal B0 Eea fim
(i)  What is intermedialc good ?
wegael gy e [ 917
(i) If MPS = 1, what is the value of MPC ?
i MPS = 1 %9, MPC a 3 i 2°3

(i) Primary Deficit = Fiscal ‘Dcficit_____h___ (Fill in the blank]
alafire it = aeeEE At - (o157 372 o w7

(iv) Which one of the following is not a quantitative credit control
measure of the central bank ?
SR @G (@ (A PRI 4 fege oy weme
(a) Bank rate
R TR
(b) Open market operation
(et <@ el
(c) Variable reserve ratio
sifETTE A feR eite
(d) Direct control
ofe gl
(v) Write one merit of flexible exchange rate.
siffsie R g9 @b R B
(v What is GDP deflator?
GDP 36 (7

2. Answer any five of t_kie following questions : 2x5=10

o AR i SAehrT Ted fr ¢ | -

(i)  Differentiate between capital expenditure and révenue expenditure.
TG T WE IoE IR G AL )

(i) What are the components of high-powered money ?
ToHmTORTE JUR SomeE & e

(iii) What are the transactions that are included in the capital account
of balance of payments ?
ARCNR ATOR Joe] fepiore 1 [ [REw =g (2 A

(iv)] Define personal income and personal disposable income.
feers @7 SIF JfETe IRy RS K@ G
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t by Rs. 125 crores, national

() As a resuit of increase in investmen
(v) Calculate the value of the

income increases by 500 crores.

multiplier.
fRfcael 125 @ﬁwmwm@g@m 500 (5 591 I 28| S A
fefa ==l

(vi) Distinguish between stock and flow.
GO i€ gqizs AE] vﬁQﬁsj qui@m|
(vii) Write any two implications‘ of revenue deficit.

e Mo Ricsier wor et ol |

3. Answer any two of the following questions :
wore il PSS Repizt go19 G fu ¢
(i) Write any three limitations of barter system.

R dUR Rezpicl fofn) PRl Brsrd 1|

(i) What is balance of payments deﬁc1t 2 Write two causes of balance
of payments deficit.

wﬁmmw@amﬁﬁsmﬁmwwmﬁaﬁrmqw@l

(iii) Write a short note on :
Autonomous and Induced Investment.

5 (O foralt ¢
- Jeg IE wfees [l

(i) What is a government budget? What are the components of
government budget ?

SR ACET e 5AEE AEH TR R

4. Answer any two of the following : 6x2=12
o SHITIRA [T ghre Ged

()  Discuss the motives of demand for money : ? What is liquidity trap ?

5+1=6

3x2=6.

U BT SSeRPTE SEs 36| o T [F7
(i) Briefly discuss the income method of calculating national income. -
From the following data calculate Gross National Product at market
price (GNPwp). 4+2=6
ﬁmﬂWWWWWWW|W@me
7S Y SO Tl il T4
(in Rupees crore)

(=i Ssre)
(i) Mixed income of self-employed 400

e wee fif¥e oy

34T ECON [3] Contd.



(i)
(iii)

(iv)
v)

(vi)

(vii)

Compensation

s firdl O

Net factor incon

G A (@
Net In
Consumptiont ©
i e G
Profits (&7e)
Rent ("“m)

(viii) Interest ()

f fixed capital

sirell

of employees

foejae

1e from abroad
fAab ©R

(ln Rupees crore)

(Rab sitarmr 77)

Discuss the functions of commercial bank.

(i) ¢
A @ S SRl

(iv) Define aggregate
~ following table an

(31fo Bale)
500

(-20)

100
120

350
100
150

demand and aggregate supply. Complete the
d determine the equilibrium level of income :

2+4=6

e ol S AT IO e Bl weTs it feror o o

iy a6

Aggregate | Consumption Savings Investment Aggregate
Supply ' Demand
AlEE st Bt Y fafartat e sifem
(AS) (€) (S) (I) (AD)

900 780 40 .
800 700 40
700 620 40
600 540 40
500 460 40
400 380 40
300 300 40
200 220 40
100 140 - 40
5. Answer any one of the following : 8x1=8

o I Rzl @brF s fra ¢
(i)  What is fiscal policy ? Discuss the impact of changes in government
expenditure and changes in taxes on equilibrium income.

2+3+3=8

ASCITR NS F 2 ST T S2[S 5T I ARTS W 599 2{Rqo7q
eI I 4 |
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1} ble exchange
(i)  Explain the determination of exchange rate under flexi &
rate system,

ARSI Rt 31 o R 2 e 26 11
(W) Write short notes op -
b3 Brel e ¢
(@) Demonetisation
q
(b) . Fiscal Responsibility and Budget Management A¢
AT g o Ol <’ Ao wd 2003

PART-B / 4-9

6. Answer any four of the following questions :

O AR Rieiear ifanre Ges ¢

(i) What is underdeveloped economy ?
oo WIS e R g@t?
(i) In which year World Trade Organisation (WTO)
e ey siegt wWro) o b ow CafeeT?
(iii) Write the full form of SHG.
SHG T ™4 %9 foyal|
(iv) Write one objective of NITI Aayog.
NITI SICNR @b Srapy fovdl |
(v) Golden revolution was related to —
(a) fish production
(b) horticulture production
(c) milk production
(d) agriculture production (Choose the correct option)
Gt Riek s wifes —
(a) T TeAMTE (0O
(b) TP TeAmTE TS
(c) W% GV (TS ‘ |
(d) FR SeAmTR e (o7 [R5 [619 1)
(vi) Define privatisation.
 gfeerear el |

7. Answer any five of the following questions : 2x5=10
O RIS il “Asore ©es i 3

(i) Mention two non-institutional sourceés of rural credit.

S 4 75 SRR G B 3|
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4+4=8

t, 2003

1x4=4

was formed ?



(i)  Write two long-term guul:; (if fi":‘_ﬁ Year Plans of India.
Spwq oAl ol JUI Tl wpsy faay

(i) Mention two types of unemployment prevalent in the agriculture
sector of India. i .
ed FRes 2T 72 LRI Al ) G )

(iv) What is the importance of green revolution in the Indian
agriculture ? )
C\EICL] q)ﬁ‘z]@'@ G10G IGEERINENY] fae

(v) Write two positive c{leCts of LPG policies in the Indian economy.

SRS wedfoe LPG MMEA 701 419 2w fay
(vi) Write two merits of globalisation.

e 7] e S

(vii) Mention two objectives of disinvestment,

AR 76 Sy S T4
8.  Answer any two of the following questions : 3x2=6

oo e gt e el i ¢

(i) ~ Write a note on Industrial Policy Resolution, 1956.
Soniie T @wE, 1956 € @ @b Gl frat

(i) Briefly discuss any one serious environmental problem India is
facing at present time.
T e oiees T Rl R b ewe SR AR [
HYLF el |

(iii) Discuss the composition of India’s foreign trade on the eve of
independence. :
FT o AFTEee SO [ e sioTa e SIeEs 4

(iv) Explain the role and importance of education in human capital
formation. '

i eI o1 P gl S g < |

9. Answer any two of the following questions : L 6x2=12
weTR SR i For O i ¢ |
(ij  Write a comparative note for India, China and Pakistan on the basis
of ‘
(a) Demographic indicators
(h) Human development indicators
(a) TR Sl o
(b) TR GEE R fofee e, SN Wi SifeerE |t gerer
(O e 4|
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10.

I,

(i) Briefly diseugs

(i) What is econg

. : . the context of
employment. t}_le challenges India is faciné m

.NCWWWW%MWW@WWH

: i . ¢ economic reforms
1n India- Mic reform ? Explain the need fo 145=6

WW?W%?@@W@W\Q ﬂmmﬁwaww'

{lU) Outlme the Common developmental suCCeSSCS and fal

)
SIS W AR St el wi Koo A forl |
Answer any one 8x1=8

of the following
o RISl a5t o B 5 ©

U W_hat do you understand by agriculture marketing system ?
Discuss government measures to improve agriculture marketn:.g
system in Indig. 2+6=8
TR T ) o s o g TR T S TR AT
DN AT et 1| |

()  Analyse the concept of sustainable developmeht. Also discuss the
strategies for sustainable development. 4+4=8

‘gm CAI 4RElCH! Rosel 4 | TS TR GAAS PP SICETb
|

PART-C / 9-910 ‘
(For Old Course Students in lieu of Project Works)

Answer any four of the following questions : Sx4=20
O R bifan R Tel il ¢

(i)  Write a critical note on public debt.
SR 4o KA «f A (il e

(i) Discuss the sources of demand for foreign currency.
T uR bz BOPTR SEDAl 3 |

(i) Can GDP be used as an index of country’s welfare ? Justify your
answer. o .
GDP & Q4 (e 14 537 R SR ARG 2 (o1 $es AT I
oIl | .

(i) What is human capital ? Discuss the sources of human capital.
TR et R TR e 9154 ST Al 3

(v) Briefly write about India as a knowledge economy.

@i R Bo oieeddd RAw@ v il |

(vi) Discuss the circular flow of national income in a simple economy.
G FEE LIS S ST T WAL |

X
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